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2 1>
2 1

o

oRlr OIS XMElAE As

D Kes=e

o HOIE Meldlgt 7=
J
=

[}
24

g Al A

A2 2N - BB O9(E) - HISAY - BES il v ol H o HimE=T

=22 214,899,048 214,029,137 869,911

= 3,582,969 4,172,113 AB8I, 144

s 3,232,520 3,232,520 0

Pl 2,071,000 2,300,000 A229,000

= 1,000,000 0 1,000,000

S 4,217,459 4,217,459 0

Al 135,095,100 134,907,045 188,055

S 700,000 200,000 500,000

Bl 65,000,000 65,000,000 0

A& &=t 37,472,479 40,131,701 A2,659,222

= 2,8%,000 3,494,000 A600,000

Al 34,578,479 36,637,701 22,059,222

HOIZ2 H™eldlgt 2= 34,086,873 36,746,095 A2,659,222

= 2,894,000 3,494,000 A600,000

Al 31,192,873 33,252,095 A2,059,222

HIIZ MelAg H4 =24 17,710,178 19,577,000 A 1,866,822

= 1,600,000 1,600,000 0

Al 16,110,178 17,977,000 A1,866,822

HOIEHM2 AIEE 23 29 294,000 284,000 10,000

201 2Er2Z 219,000 209,000 10,000

02 222l 114,000 104,000 10,000

OHDIZXel ANEE 28 29 114,000 104,000 10,000

HIIEdME fE=3 965,746 1,049,000 283,254

308 XXIHMSOIA 965,746 1,049,000 N83,254

07 MXIEtH2t R = 965,746 1,049,000 A83,254

OEE & 221 HIISHER 965,746 1,049,000 N\83,254

AU TAEE HHEENH & A 28HS 78,634 90,000 A 11,366

401 AIEHIZ 2018 78,634 90,000 A 11,366

01 Al&Hl 78,634 90,000 A11,366

OLUXAME A2 28| 78,634 90,000 A11,366

HIOISHM2IAlE 2aI0tA HHEA 04 0 81,000 A81,000

201 22 0 81,000 281,000

02 2&2<H| 0 81,000 /81,000

OHJISXeIAlE 240tA HHEH 04 0 81,000 281,000

A ZAHIISH (A2 AIE XA 32,29 215,000 A182,705

401 AlIEHIZL R OHYI 17,295 200,000 A182,705

01 Al&Hl 17,295 200,000 A182,705
OF=3A ZAHDIISH(a2H)AIE XA

i 17,295 200,000 A182,705

A= ZAEE =20l2 ZHIAMY 1,992,000 2,800,000 808,000

= 1,600,000 1,600,000 0

Al 392,000 1,200,000 808,000
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AR R4 - B SAE) - HRAY - BES il v ol ® o HimE=T
401 AIEHIZL 2 OHY| 1,992,000 2,800,000 808,000
= 1,600,000 1,600,000 0
Al 392,000 1,200,000 808,000
01 AlIZHI 1,992,000 2,800,000 808,000
Od=d ZAEE =20I2 HHIAIY 1,992,000 2,800,000 808,000
= 1,600,000 1,600,000 0
Al 392,000 1,200,000 808,000
aetE Y2 e 19,503 500,000 A480,497
401 AIEHIZL S OHEI 19,503 500,000 A480,497
01 AIZHI 19,503 500,000 A480,497
OdltE 2=z 19,503 500,000 A480,497
A=A HE HEAMS 20,000 250,000 230,000
401 AIEHIZL 2 0HY] 20,000 250,000 230,000
01 AlEHI 20,000 250,000 /230,000
Od=gZHH A 20,000 250,000 230,000
HIIZ HEE 29 2cl 14,746,695 15,539,095 AT92,400
= 1,294,000 1,894,000 600,000
Al 13,452,695 13,645,095 A192,400
SASMYD| SIRIRE 6,730,832 6,923,232 A192,400
307 212t01 & 6,730,832 6,923,232 A192,400
05 2I2tRIE = 6,730,832 6,923,232 A192,400
OsAEMD| 212t 6,596,482 6,726,232 A129,750
OHIIEMERE= 134,350 197,000 AB2,650
HIOIRIFAD|BE =AM AA| 0 600,000 600,000
= 0 600,000 A600,000
401 AIEHIZL S OHEI 0 600,000 600,000
= 0 600,000 600,000
01 Al&Hl 0 600,000 600,000
OH0I2JtA J|8t 0 600,000 600,000
= 0 600,000 600,000
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A= H=g=f A FAKE
g dEEIlE Xel
&elr 3AdE 2 (SH9 H2)
A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
AR 82,808,012 75,624,780 7,183,232
= 232,520 232,520 0
=S 40,000 40,000 0
Al 82,535,492 75,352,260 7,183,232
ae Xel 64,858,259 57,666,962 7,191,297
= 232,520 232,520 0
< 40,000 40,000 0
Al 64,585,739 57,3%,442 7,191,297
Fady 29 64,015,429 56,785,722 7,229,707
L=XAl 222 Hel 28,000 30,000 2,000
201 Let=d] 28,000 30,000 22,000
01 AlR2teldl 28,000 30,000 2,000
OZ=AA 2EZ Hel 28,000 30,000 2,000
HEHDIZ =28 eyl 61,345,907 54,003,200 7,342,707
307 212+0l1& 61,342,707 54,000,000 7,342,707
05 QI2t?E =2 61,342,707 54,000,000 7,342,707
OMEHIIZ =2 tHeltl 61,342,707 54,000,000 7,342,707
oS HY| 61,342,707 54,000,000 7,342,707
HSHIIE LM ASZL HE B 0 36,000 136,000
207 ARl 0 36,000 236,000
01 A2 S| 0 36,000 36,000
O M=Zi HE 0 36,000 36,000
HEHDIZ =28 WS St 0 20,000 20,000
207 A IHEH] 0 20,000 20,000
01 A1E9H| 0 20,000 20,000
CdgHI|l= +d2E LM Eot 0 20,000 20,000
HEHIIS =28 AJE S HFEY 45,000 80,000 35,000
207 AR 45,000 80,000 35,000
01 A SHH| 45,000 80,000 35,000
OMEHIIZ 2L JIRE S o328
A 45,000 80,000 235,000
20BN AE 2E 2E 16,800 36,800 20,000
207 A IHEH] 0 20,000 20,000
02 HADHZHI 0 20,000 20,000
OFAQIABCIAIAL N 2= 0 20,000 A20,000
OAIAE N3} 0 20,000 /20,000
ol H2E 29 382,200 412,200 30,000
=S 40,000 40,000 0
Al 342,200 372,200 30,000
SHHE 1,500 31,500 30,000
e 1,500 31,500 30,000
a5 1,500 31,500 30,000




? HOIZ MEE 29 (SH9 H2)
a A - - SA(SH) - NISAS - BES Oi &F2H N3 Hws2Z

0=R013|2)| SHR3 1,500 10,500 29,000

0=R013|xI| I3 0 21,000 A21,000

HOlE2 X<s2el 460,630 469,040 A8,410

= 232,520 232,520 0

Al 228,110 236,520 28,410

S2l0lE MelXd At 456,630 465,040 28,410

= 232,520 232,520 0

Al 224,110 232,520 /8,410

401 AIEHIL 20HY 456,630 465,040 A\8,410

= 232,520 232,520 0

Al 224,110 232,520 28,410

01 Al&HI 456,630 465,040 28,410

O£YI0IE MelXN@ At 456,630 465,040 A8,410

= 232,520 232,520 0

Al 224,110 232,520 28,410

HRas(FAXAM) 101,277 109,342 8,065

WEHHXIS(HAXR D) 83,000 91,000 /8,000

SHSMDIe2 F=NES 83,000 91,000 8,000

701 JIERIHISEES 83,000 91,000 28,000

02 SIILELIIHNABLEES 83,000 91,000 28,000

OBASMYD|Ix=T AolER3 EAE

ot E=dES 83,000 91,000 28,000

SEXE(FAXAD) 18,277 18,342 265

SCHIEXSEHEH(EARR D) 18,277 18,342 265

802 g+et=JIE 18,277 18,342 265

01 = ExZeteza 17,070 0 17,070

O2022@ Het= sUIOtE 8XIXE At 1,120 0 1,120

020224 =cll0IEXM I X AL 15,950 0 15,950

02 Al - SHIEZZBHEZ 1,207 18,342 N17,135

OZ20IE HMelXI& A 0 15,950 115,950

020218 ME=Z SEME N3AAMS 0 1,185 N1,185
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Al A

A HA=g=ER M =SXIE20
M CAl sXI38 24
&t =X H3¥ x4 (CH9: &S1)
4224 BH - OS(SH) - AN - BaS of e o= o HIDS2

=SXEE L 11,395,358 14,498,220 13,102,862
= 76,565 76,565 0
2l 2,071,000 2,300,000 £229,000
< 2,382,999 2,382,999 0
Al 6,864,794 9,733,656 N2,873,862
CAl =X3E =24 10,959,432 14,104,680 13,145,248
= 76,565 76,565 0
) 2,071,000 2,300,000 229,000
< 2,382,999 2,382,999 0
Al 6,428,868 9,345,116 12,916,248
=X &8 x4 1,292,663 1,334,320 ~41,657
MY AHEED] OiF 781,750 800,000 A 18,250
201 L2 776,750 795,000 A 18,250
03 A2 HHI 746,750 765,000 A18,250
OM=ZA LA T 2L 746,750 765,000 N18,250
ZREsH 29 117,020 125,000 N7,980
401 AIEHIZL 20 52,020 60,000 7,980
01 Al&H| 52,020 60,000 AT7,980
OB EZSIE FXl2tel 52,020 60,000 AT7,980
ZETIAAN 2 54,000 60,000 26,000
201 L2 54,000 60,000 26,000
01 AtR2telb] 54,000 60,000 26,000
O==ZAA 24 54,000 60,000 26,000
AlI2I0] EOlotz FIMRII(HEALY) 290,573 300,000 29,427
401 AIEHIZL 20HY 240,573 250,000 29,427
01 Al 240,573 250,000 N9,427
OAIgI0] &0ots ARJHII 240,573 250,000 19,427
CAlE SXMETD =4 5,072,510 6,152,000 A1,079,490
2l 1,163,000 1,300,000 A 137,000
< 1,300,000 1,300,000 0
Al 2,609,510 3,552,000 2942490
CAlE S92 THZe| M (ZAI=)(HEAY 1,196,448 1,500,000 /303,552
< 750,000 750,000 0
Al 446,448 750,000 A303,552
401 AIEHIZL 20HY 1,196,448 1,500,000 A303,552
< 750,000 750,000 0
Al 446,448 750,000 /303,552
01 Al&HI 1,194,448 1,498,000 /303,552
OZAlz= 89 =dzel Ard(SAlsE) 1,194,448 1,498,000 /303,552
= 748,000 748,000 0
Al 446,448 750,000 308,552
01 2F=X ALRXl 0HY 199,298 500,000 /300,702




= NHz=gE= A

ol TAlE sXIMET =4

=SXNEA

AR R4 - B SAE) - HRAY - BES il v ol ® o HimE=T
401 AIEHIZL 2 OHY| 199,298 500,000 A300,702
01 AlIEHI 199,298 500,000 A300,702
OFII0IEY 2F5=X ALRAl OH 199,298 500,000 A300,702
CAlE S9 T4&ze MHOI24)(HEAL) 485,625 800,000 A314,375
= 400,000 400,000 0

Al 85,625 400,000 A314,375

401 AIEHIZ 2018 485,625 800,000 A314,375
S 400,000 400,000 0

Al 85,625 400,000 A314,375

01 AIZHI 485,625 800,000 A314,375
O&Al= 89 Z&ze| MHO2=) 485,625 800,000 A314,375

L= 400,000 400,000 0

Al 85,625 400,000 A314,375

EAME= T4 - 22 2,463,000 2,600,000 137,000
| 1,163,000 1,300,000 A 137,000

Al 1,300,000 1,300,000 0

401 AlIEHIZL R OHYI 2,463,000 2,600,000 137,000
Il 1,163,000 1,300,000 137,000

Al 1,300,000 1,300,000 0

01 Al&Hl 2,460,000 2,597,000 137,000
OEANE= =4 - ZelAHY 2,460,000 2,597,000 137,000

J| 1,161,500 1,298,500 137,000

Al 1,298,500 1,298,500 0

SAssS Zd2elHE = 76,139 100,000 A23,861
401 AIEHIZL20HY 76,139 100,000 A23,861
01 AlEHI 76,139 100,000 N\23,861
OkAN=sS &d & 2elH= =8 76,139 100,000 A23,861
Ca=XEdael 4,594,259 6,618,360 A2,024,101
= 76,565 76,565 0

| 908,000 1,000,000 292,000

S 1,082,999 1,082,999 0

Al 2,526,69% 4,458,7%6 21,932,101

ANSHE L (HEAY) 650,000 1,300,000 650,000
L= 650,000 650,000 0

Al 0 650,000 650,000

401 AlIEHIZL 2 0HY| 650,000 1,300,000 650,000
= 650,000 650,000 0

Al 0 650,000 650,000

01 AlIZHI 650,000 1,300,000 650,000
oNgEd x4 650,000 1,300,000 650,000

== 650,000 650,000 0

Al 0 650,000 650,000




A= eleszs SA  SXFAD
HM: TA SX3Y =4

e A=A g2e (Gt H2)
A 2A - B . HA(SH) - MIRAIY - BES Ofl kel | & A Hlns

HAAAMS NHE(LZE) OIMAI (HEALR) 1,620,106 2,000,000 N379,8%

401 AlEHI L] 1,620,106 2,000,000 N379,8%4

01 Al&HI 1,615,106 1,995,000 N379,8%4

OFIAS XNALE(L2E) OITALS 1,615,106 1,995,000 N379,8%4

MEURS AWK KIS 1,003,293 1,997,500 994,207

Jl 908,000 1,000,000 A9,000

Al 95,293 997,500 A0, 207

401 AlZHILL0H] 908,293 1,902,500 N9, 207

bl 860,500 952,500 A92,000

Al 47,793 950,000 A0, 207

01 Al&ZHI 905,793 1,900,000 N4, 207

MBS MAWI|X X2 905,793 1,900,000 N4, 207

bl 858,000 950,000 A9,000

Al 47,793 950,000 A902,207

AR M 321,202 347,500 N26,298

MEITHY B5 ]S 321,202 347,500 N26,298

Jl24 #2 HoIEl(B) 2= 273,702 300,000 N26,298

401 AlEHI L 2] 273,702 300,000 N26,298

01 Al&HI 273,702 300,000 N26,298

OFLZAL L AIAE J|SHA 273,702 300,000 N26,298

NRES(=SXHAD) 68,684 0 68,684

SENE(SNEA) 68,684 0 68,684

2CHIEESeEH(SAEA) 68,684 0 68,684

802 BHar=20|E 68,684 0 68,684

01 2NEx3eHe2 58,237 0 58,237

OO0IMISX| Xtcts 1,165 0 1,165

ORIt TH2e| 138 0 138

OZ A= Zazelel X& 4,150 0 4,150

02018 TAlE HiE2ds= 8,938 0 8,933

©20214 OIMHX| Xtchs= 3,953 0 3,953

02018E~20198 TAl= &AL 39,893 0 39,893

02 Al - CHIEZ3EHa= 10,447 0 10,447

ORIt T2 42 0 42

O=MTtel SSAS 183 0 183

020249 TAlm S TH2L 2,458 0 2,458

0218 TAlE S T42L 224 0 224

oxNgd2 =4 7,535 0 7,535
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83,223,199
612,404
3,000,000
1,000,000
1,794,460
11,116,335
&= 700,000
H 65,000,000

Hoam &4

=

83,774,436
601,548
3,000,000
0
1,794,460
13,178,428
200,000
65,000,000

A2,062,093
500,000
0
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=
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P
0x

8,459,932
612,404
3,000,000
300,000
509,460
4,038,068

om0

=

9,643,987
601,548
3,000,000
0
509,460
5,532,979

1,184,055
10,856

0

300,000

0
1,494,911

H
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739,614
173,840

79,570
486,204
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=

723,669
162,984

79,570
481,115

15,945
10,856
0
5,089

54,804

49,715
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54,804

49,715

5,089

54,804
54,804
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49,715
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5,089
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500
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500
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10,3%
10,3%
10,35

7,720,318
438,564
3,000,000
300,000
429,890
3,551,864

Hoam 4 W

=

8,920,318
438,564
3,000,000
0
429,890
5,051,864

21,200,000
0

0

300,000

21,500,000
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X =H 22 (Srel: &)
CEA B SR(B) - NIRAY - B2 0] a0t ol & o CImE=E

s 3,000,000 3,000,000 0

Al 1,500,000 3,000,000 21,500,000

401 AIEHIZL 28I 4,500,000 6,000,000 21,500,000

= 3,000,000 3,000,000 0

Al 1,500,000 3,000,000 21,500,000

01 AlZHI 4,495,000 5,995,000 A 1,500,000

O2tE S Bt 0R SAXY 4,495,000 5,995,000 A 1,500,000

s 2,995,000 2,995,000 0

Al 1,500,000 3,000,000 21,500,000

A LH 2D AR 300,000 0 300,000

£ 300,000 0 300,000

401 AIEHIZ 2018 300,000 0 300,000

£ 300,000 0 300,000

01 AIZHI 300,000 0 300,000

o4t L HEAT| Z-AHY 300,000 0 300,000

£ 300,000 0 300,000

& &l 74,647,506 74,085,909 561,597

£ 700,000 0 700,000

= 1,285,000 1,285,000 0

Al 6,962,506 7,600,909 A638,403

&E 700,000 200,000 500,000

| 65,000,000 65,000,000 0

SANSEEH 74,647,506 74,085,909 561,597

£ 700,000 0 700,000

= 1,285,000 1,285,000 0

Al 6,962,506 7,600,909 A638,403

== 700,000 200,000 500,000

X 65,000,000 65,000,000 0

SRIZAZA ANL2SH HES 237,506 506,909 A209,403

30 HES 218,466 486,909 A208,443

01 AL - SHILEES 218,466 486,909 A268,443

OHXZA AE2E NE 218,466 486,909 A268,443

404 SMSHN2HES 19,040 20,000 2960

01 AL - SHA=2dE= 19,040 20,000 A960

OEYrZE A& XA 19,040 20,000 A960

JI0IEE SAISE 2AHE HE Y 344,000 400,000 /56,000

401 Al&HIZ 20| 344,000 400,000 256,000

01 Al&HI 344,000 400,000 256,000

OZFJIINIEY TAISE AAHE HE EY 344,000 400,000 256,000

A= GAZH M2X HE22X |4 945,000 1,145,000 A200,000

T 945,000 945,000 0

Al 0 200,000 A200,000
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deEEsR A AESEL

TAISE Ehl

CRA BB SR(BI) - HRAY - BES p/IE- -

401 AIEHIZL 28I 945,000 1,145,000

= 945,000 945,000

Al 0 200,000

01 AlIZHI 940,500 1,140,500

OFE HATA 2K HHZZX S4 340,500 1,140,500

= 940,500 940,500

Al 0 200,000

NS S +Z2E AFS (HEALY) ,900,000 2,000,000

401 Al&HIZ 20| 1,900,000 2,000,000

01 AIZHI 1,900,000 2,000,000

OHAZAL B4 FENAAY 900,000 2,000,000

SUDIM~ A2 B8 dEEE D27y 89 44,000 50,000

401 AIEHIZL 28I 44,000 50,000

01 AlEHI 44,000 50,000
OZUDIM~ KLY B8 HZER Jl=2a

=9 44,000 50,000

232 Ul A 9 2olal AXI(01014H) 0 50,000

401 AIEHIZ 2018 50,000

01 Al&Hl 50,000
OYETA U SIFA U 2ola LI (H0{0]

4F) 0 50,000

SRZE 2F L A2 424,000 524,000

405 XHAHE SHI 190,000 290,000

01 AL = FF S| 190,000 290,000

oxtg & ZHlE &l 190,000 290,000

715 ORI0IZE Al X BAZY ZEA 300,000 0

£ 300,000 0

401 AIEHIZL 28I 300,000 0

£ 300,000 0

01 Al&HI 300,000 0
SIS Hel0IZBd 8Al & FAZ2H =4

At 300,000 0

£ 300,000 0

S0I0IZY SIAA ST 200,000 0

£ 200,000 0

401 AIEHIZL 28I 200,000 0

£ 200,000 0

01 AIZHI 200,000 0

ONSORI0IZY BHEHA HHIAIE 200,000 0

= 200,000 0

HOjI0IZR ALS FHH| L HolAlM &X 100,000 0

&= 100,000 0

401 AIEHIZL 28I 100,000 0
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